EXERCISE 7-4 Barring measures

For each example, provide the number of beats per bar and the value of the beat. Then add the
missing bar lines, including double bar lines at the end of each example, according to the time
signature. The first is done for you.

EXAMPLE # of beats per bar: four
value of the beat: dotted eighth
Given rhythm:
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(a) # of beats per bar:

value of the beat:
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(b) # of beats per bar:

value of the beat:
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(c) # of beats per bar:

value of the beat:
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(d) # of beats per bar:

value of the beat:
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